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Question ID : 8161612495
Status : Answered
Chosen Option : 4
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Question ID : 8161612500
Status : Answered
Chosen Option : 4
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(AGLM 37 85l : AXYZ T 87T%Fe1) T AT A HITarT]

ans X111 10
v21:12
X31:14
Xa1:11

Question ID : 8161612497
Status : Answered
Chosen Option : 2
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Question ID : 8161612509
Status : Answered
Chosen Option : 3
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s X129
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Question ID : 8161612502
Status : Answered
Chosen Option : 4
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=t F a w=r FE T

ans X118
v'2 20
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X4 22

Question ID : 8161612488
Status : Answered
Chosen Option: 2
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Question ID : 8161612506
Status : Answered
Chosen Option : 2
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Question ID : 8161612508
Status : Answered
Chosen Option : 3
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Ans X 1. 84 m
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Question ID : 8161612487
Status : Answered
Chosen Option : 4
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Ans  of 1.32187.5
X 2 321855
X 3 321885
X 4 32186.5

Question ID : 8161612491
Status : Answered

Chosen Option : 1
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Question ID : 8161612507
Status : Answered

Chosen Option: 2
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Question ID : 8161612498
Status : Answered
Chosen Option : 2
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Ans (1, 259
X 2 30%
X3 15%
X 4 20%

Question ID : 8161612490
Status : Answered
Chosen Option : 1

Q14 faw v BT &, eq F7 $% O ¥ $HST & ST AB 3R CD T gy F Id F AR g P
gfe=ofeg & §1 afE AB = 15 cm, PB = 9 cm, CP = 3 em &, @ PD & =g =g Hifarw)

Question ID : 8161612494
Status : Answered
Chosen Option : 3

Q.15 e 3= Frgst F1 a0 F BT 39 W 20% F gE A §, A ¢ HTN vl awg W gEw #
35% 3 % 3fra I F1 3w o Wi A HifEw

ans - X1 10%
X2 7%
v's 8%
X 4 9%

Question ID : 8161612489
Status : Answered
Chosen Option : 3
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HE 15 ;2 T FAA AR T & TGEE Foagee 2 0 25 §1 G w5 w9 fifew

Ans  X1.31,300
< 231,200
X 3 ¥1,400
v 4 ¥1,500

Question ID : 8161612492
Status : Answered
Chosen Option : 4
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Question ID : 8161612503
Status : Answered
Chosen Option : 2

T ofr 3sec? x—4 =0 & @ x (0 < x < 90°) F T FAET|
Ans X1 15°

X 2 450

'3 300

X 4 60°

Question ID : 8161612505
Status : Answered
Chosen Option : 3
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5 km' 2T 9 km/h & TR & 7 F| G A F IO FEH A T e o

Ans X175 km/h
X 2 55 km/h
X 3 45 km/h
v 4 6.5 km/h

Question ID : 8161612486
Status : Answered
Chosen Option : 4

Q.20 T AR ST HUROT ST, 12%% Tf¥® & W o a9 # Aeus F SUe & Aeen?

Ans (183&
K27 3%
X35 af
X46as

Question ID : 8161612493
Status : Answered
Chosen Option: 1
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T S G AT @ o gasv]

XK 42 em
X272 em
X3 642 em
v 4 502 em

Question ID : 8161612496
Status : Answered
Chosen Option : 4
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Ans - X 1. 75

X2 77
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Question ID : 8161612501
Status : Answered
Chosen Option : 4

QB Zfx scofe-3sin* 6+2=0 &, A tand I AT TAET (SET 0 < 6 < 90°)]
as x5
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Question ID : 8161612504
Status : Not Answered
Chosen Option : --
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20 & # @iea # v 9k fad 9 & ST gen?
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X2 gfafes 8 oE
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X4 gfafes 7 we

Question ID : 8161612485
Status : Answered
Chosen Option: 1
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Question ID : 8161612499

Status : Answered

Chosen Option: 1




